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Multiple Choice questions

Q.1. | The common factor of x2y2 and x3y3 is

A x2y2 B x3y3 C x2y3 D x3y2,
Q.2. | The factorisation of 12a%b + 15ab? is

A | 3a®b(4a+5b) |B| 3ab(4a+5b) |C| 3ab?(4a+5b) |D| 3a’b’(4a + 5b).
Q.3. | The factorisation of 4y2 — 12y + 9 is

A (3y - 2)? B (2y -3y C (3y + 2)? D (2y + 3)?
Q.4. | The value of 992 is

2 2 _

A 39 +2x30x3+ | g 39 2303+ | ¢ 902 + 92 D| none of these.
Q.5. [Ifx2—x-42=(xx+k)(x +6), thenk =

A 6 B -6 C 7 D| -7
Q.6. | The factorisation of 10x% — 18x® + 14x* is

2 2 _ 3 2 _

A | 2(72-9x+5) |B | 2x(7@=9x +5) | ¢ | XX =X+5) I p| 2 (7’;) M+
Q.7. | Which of the following is quotient obtained on dividing —18 xyz? by -3 xz?

A | 6yz B | -6yz C 6 xy? D 6xYy
Qs. - .

On dividing 26xy (x +5) (y —4) +13xy (y —4)

A | 2y(x+5) B 2(x+5) C 2y D 3x
Q9 The quotient of 12a8h® + (- 4a®b®) is
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A 3a2b2 B 3azb C 3ab? D -3a2b?2
Q10 | The common factor of 36p2g3x*, 48pg3x? and 54p3g3x* is
A 36pg3x? B | 6pg3x? C 54pg3x? D| 48pg3x?
FILL IN THE BLANKS
Q11 | 6m— 42 can be factorized as

Q12

The factors of 16x* — y*

Q13

The common factor of 2x and y is

Q14

The factors of 6xy —4y + 6 —9x are

Q15

Factors of p? +7p+12 is --

CASE STUDY: Two friends Rahul and Madhav start a business together.they decide to share
their capital depending up on the variable expenditure.The capital of two partners together is
given by y? —5y —36 which is the product of their individual share factors.On the basis of

above information,answer the following

questions

Q 16 | If the value of y is 5000, then the capital of their business is

A 2,59,75,964 B 2,49,85,964 C 2,49,75,964 D 2,49,75,694
Q 17 | The factors of y> —5y —36

Al (y+9)(y-4) |[B| -9+ |C| (y =9 (-4 |D| (y+9)(y+4)

Q18

In between Rahul shared the amount y2 +3y +1 more, then their present capital of the

business is

A 2y2 -2y +35 B 2y2 -2y —-35 C 2y2 +2y +35 D| 2y?2+2y-35
Q 19 | The profit they earned is x2 + 18x + 81. The factors of x2 + 18x+ 81.

A (x +9) (x+9) B (x +9) (x-9) C (x +9) (x+2) D (x +3) (x+3)
Q 20 | If the value of y is 2500, then the profit of their business is

A 62,55,061 B 62,95,061 C 62,59,061 D 62,95,661
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ANSWERS

1. [A) x2y2 2. |B)3ab(4a+5b) |3. |D)(2y+3)? |4 |A)902+2x90x9 + 9,
5. D) -7 6. |C)2x3(7x2—=9x +5) | 7. |A) 6yz 8. |B)2(x+5)

9. D) -3a2b2 10. | B) 6pgx? 11. | 6(m-7) 12. | (4x2+y?) (2X +Y) (2X-Y)
13. |1 14. | (2y-3) (3x-2) 15. | (p+4) (p +3) | 16. | D

17. |B 18. |B 19. | A 20. | B
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